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o F=i=g 32,0008 * 198 = 24= 768

O AMYX WAINE HEEEH 2202 3,840
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o =X 32,0008 19 = 20= 640
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O MIBEE RE= 4,361
o AUEE (AL, =0, 08,46HH) 43,776,0002 * 9.86/100 4,317
o Lo RAEE 1,072,512& * 4.05/100 44
201 Let2d 44,210 43,020 1,190
01 AtR22H 44,210 43,020 1,190
O get=2H] 39,410
o FHSM, SEM 4102 0CRIXIM HIZ 70,0002 * 108fA * 123] 8,400
o HGM, AL AFS AN A TDZ0RIXIM HIZE 70,000% * 152fA * 13 1,050
o oMl s&E XM M 70& * 37,00000 * 13l 2,590
o UsIAMl S8 XA HE 702 = 100,00001 » 13l 7,000
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- SUE 200,000& = 504 = 13l 1,000

- Y2t 6,000 * 300HA * 13 180

o NgA Mg 4= 828 &% A 2,600

- g9 200,000&  5JH2 » 23 2,000

- AAI 60,0003 * 5JHA * 23] 600

O A 01825 802 2,000 = 123 1,920

O s8ZME AS0IH === 50 * 2,000 = 123 1,200

O JIgXdEs ?Igt NLA 283 Iz 2,230

o 0 M 110,000& * 32l 330

o LUA==E 200,000& * 2& * 33l 1,200

o ZAHOH| 100,000& * 22 * 32l 600

o YWAE 22F FY 100,000& * 14 100
02 =29l 4,080 0 4,080

O 2323 2 HMAl 4,080

o XAl et 2XHES(MS) ald AIS= 30,0003 = 4CH » 123 1,440

o NYA =l 2NHESE 22& = 10,0004 » 12 2,640
NRSSHLUAAE 22| 29 100,525 112,345 11,820
201 £et2dH] 52,070 50,100 1,970
02 S==29Hl 52,070 50,100 1,970

O ANEEHI=XbI 52,070

o NN Sstd&EHl A2 13,000,000 * 14 13,000

o FHAMI| & ZHEUOIH FNE+ 16,000,000& * 14 16,000

o UETEHD| RIS 6,000,000 * 14 6,000

o N 2otEZz20d |2 1,750,000& * 14 1,750
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o XYM SESHAAE(SMS) RALB 110,000& » 73 770

© ONE-STOPHIEHSAIAE RXE= 550,000& » 7& 3,850

o XYM NSSE HHAIAE(ARS) RAIZ4 2,700,000& * 14 2,700

o MESRIAHIA Z2 08 A2 8,000,000& 14 8,000
202 O4dl 6,720 4,620 2,100
01 S| 6,720 4,620 2,100

O XA MAZZOH Il WS 75,0002 * 2% * 6 * 23] 1,800

O SHE NLAEMZZOH AN (EAH M) 20,000& * 2H * 8+ 123 3,840

O NYMEMAZZ2OH 2| XS (EH, &4 45,0008 * 2 » 3 * 43 1,080
403 XXM SKE01H 41,735 27,625 14,110
02 SJI2SOICHSHH&EAIZ I 41,735 27,625 14,110

O NLHNEEAAE 2L XA 41,735

o HEXNLANEESAIAH 31,500,000& = 14 31,500

o S XA 24 4,000,000 * 14 4,000

o XE0A&ME A28 29 6,235,000& * 14 6,235
KA Mg &= 155,043 176,607 N21,564
SEHC YN FHel 155,043 157,075 A2,032
201 et 51,325 29,920 21,405
01 AtSR2teid] 40,510 29,920 10,590

O get=2H| 40,510

o XM == 0CRLXNAM HE & S8 702 * 20,00000 * 43 5,600

o XZM M A OCRLXIM M Y =& 70& = 50,0000 * 43l 14,000

o XZA MEH A& oHAZ ME Y S& 55& * 50,00001 * 23l 5,500
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o ASIAl MgXSSSES e X0 2A M 70,000& = 102fA * 23] 1,400
o MEXe gse Ixs X #Y 50,000& * 13| = 12& 600
o HWHLFRUDAM HA 50,000 * 8HA x 23] 800
o XM SE(ME)DXAMN LS8 ASE & 30& * 70,0000H * 12l 2,100
o MM HelE /st MEFEMHIA 01 1,980,000& * 23| 3,960
o SRAISAL B4 S0 e === 200,000& * 1024 2,000
o 24 PoFEH HeEAE HY 0182 200,000& * 13l 200
o XM MEM=2 HH=2 HIA 70,000& * 1A x 53] 350
o Mgkt sESHAHEE =3 =2 2,000& * 1,000 = 23| 4,000
02 =32<H| 10,815 0 10,815
O 3322 ¢ HAl 1,065
o KSXHA 65,0003 » 13 65
o XAl Mg d-dSite E82 1,000,000& * 14 1,000
O Ztefddet] 9,750
o XAl Mg d+=dESiEd KR 5,000£ * 1,600& = 1CH 8,000
o XA Mg d+=8EXE +=cldl 1,750,000& * 1CH 1,750
202 O4dl 66,258 75,195 28,937
01 S 66,258 75,195 28,937
O 2UAH= XA Mg H85 0l 20,0003 = 159 » 128 * 123 43,200
O Z2IHF XM g F=8s 0 75,0008 * 109 * 5& * 33l 11,250
O XASXHMl Mgt st dgs ol 10,000& » 10 » 6 » 12& 7,200
O XM &7 - SHHUaSH X AEBEA 20,0003 * 3F = 32 ~ 128 2,160
O gr=2d WREF L g3 B (=& XF) 34,0008 * 1&H » 62 » 128 2,448
303 Zalz 24,960 24,960 0
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01 Z&Z3 24,960 24,960 0
O WET AA MYH 24,960
o 19xt 576,000,000& * 1/100 5,760
o 2@ Xt 250,000,000& * 3/100 7,500
o 34Xt 234,000,000& * 5/100 11,700
405 XHoHESHI 12,500 27,000 A 14,500
01 XL ESFSHI 12,500 27,000 A 14,500
O XEME MRt cHater—> ket 12,500,000 = 14 12,500
=3 ol el &= 63,030 50,080 12,950
2= S 63,030 50,080 12,950
201 Ler2g 13,790 3,940 9,850
01 Ar2teld] 13,790 3,940 9,850
O get=2H| 9,990
o A2+ 0CRLX 50,000& * 502fA * 23] 5,000
o Mel=g H==0 60,000& * 43| 240
o AEs23AII(L 4,750
- 2l 15,000& * 507K 750
- YIE 50,0002 * 50K 2,500
- d==3H0I=Z 30,000& = 5004 1,500
O 28+ 3,800
o J|RaARIES 100,000& * 6F * 43| 2,400
o SNEFHS 100,000& * 7& * 23| 1,400
202 O4dl 12,240 12,240 0
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01 =W 12,240 0
O H2=g 28 & HZad 75,0002 * 28 » 5 « 43| 3,000
O NeA+=LH2BAAY datus & 75,0008 * 28 = 3& x 23] 900
O Mo+ H&e & W22l 2 75,0008 * 28 * 3& x 23] 900
O 2AXE M=+ &0 XMel 20,0008 18 = 5& » 123 1,200
O HeI+=g Mg =25 0l 2,720
o = X 20,0008 * 4% * 4 * 63l 1,920
o & A 50,0003 * 28 = 2& = 43] 800
O Us3AII(ASI]) deHEa 720
o 5 A 20,0008 * 29 * 4& = 23] 320
o & A 50,0008 * 2& = 2& = 23] 400
O Mg=Eldgs NE 84 2,800
o = X 20,0003 * 22 = 4& x 102 1,600
o & A 50,0008 * 28 = 2& 63 1,200
303 Za= 5,000 0
01 Zas 5,000
O M2I+g Mg d+ & IS = 5,000
o PFFA 3,400
- 2= 500,000& * 1JH2 500
-2 = 400,000& * 2JH2A 800
- & d 300,000& * 7JH2~ 2,100
o RESFE AY 100,000& * 16& 1,600
403 XXIHMSA=01& 11,000 1,000
02 SJIZSOICHStH AN 11,000 1,000
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01 S| 32,644 40,950 8,306
O Il SHAA 32,644,000& * 14l 32,644
405 XHobESHI 5,500 15,300 A9,800
01 IR ESFSHI 5,500 15,300 9,800
S AAIZE =01 AIAE P2 5,500,000& * 1CH 5,500




